


P4 X3 427 =09 B

&

A}z
=]

® 4

@ 3

® 2

@1

Do



1

@ 2

® 3

@ 4

@ 5



1 1
—x-|——y:2 @

{0.6x+0.5y —28 ---@
3572

@ (2,3) @ (-2,3) ® (3,2)
@ (3,-2) ® (-3,-2)



G ax+by =8, 2ax-by=-2° ol x=1, y=2% 1,
a, bo| 27

®a=-2,b=-3 @ a=3,b=2

®a=2 b=-3 @ a=2b=3

® a=-3,b=-2



2994

2x 4+ ay =10
x-y=b
O 7k x =2, y = -3 W, a+ b FHE?

——

@1 @ 3 ® 5 @ 7



7. H-5-14=09) % 822 o, p2 B W, o 4429 2 FIHA?

@ 4 @ -4 ® 8 @ -8 ® -16



2 % 147k shpe] Zoln] B

1)
X2 = 2x+2)(x% - 2x +

2o2x+2)(x-1)(x+1)

@ (
@ (
@ (®-1)(x>-2x-1)
@ P+ (x-1)(x+1)
® (

1
P+ 1)(x2-2x+1)



AT A 13 - 5x2 +ax+ b =09
o= FHH? (H, a. b= )

\/5,2 @_1+\/§a_3
V2, -3 ® -1++v2,3

FHZol 1+ V2, o 7

®1-+2,3



10.

D a=-1
® a==+1
® gict

ok
oF
1o
%
il
A
o



x=a,y=ptT Y, o?+5%-aB9

@1 @ 3 ® 5

*e?

@ 7



12, xofl et AP A 3 4+ 2x% + (k+ 1)x+ &k = 0] o] BT 4lo]
2 sk A ko] 3ol Hele?
O -1<k @ 1<k<2 ® k>0

1
_1 k<,
® -1<ksg =1



13. 5 A5 x, yol kel x? 4wy + 5% + 26 -8y +5 =02 W, x+y
o] ghe?

@ 1 @ 2 ® 3 @ 4 ® 5



14. xy-3x-3y+4 =02 WEoh= G A x, yo Fx+y9 @22

® 10 @ 11 @ 12 @ 13 ® 14



-9,
-
T
I,
o
>,
=
[V}
|
Q
=
+
Q
_|_
[N}
[

® a0 o] 8 o|sto|th,

098] & o] % A7} 57 5h=



